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Sample 1

Question 22 (14 marks)
(a) What makes New York City a world city? 3

In your answer, refer to Sources H, I, J and K from the Stimulus Booklet.
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(b) How might the culture of place in a large city be influenced by large numbers of ,2255~

tourists? Y e T
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Question 22 continues on page 12
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Question 22 (continued)

(c)

Sample 1

How do_population growth and associated urban sprawl affect the provision of 6
both social services and infrastructure? Refer to a large city you have studied.
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End of Question 22
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